

PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax:

(817) 246-3361

BIII To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

INVOICE Prod-U

Invoice Date: Mar 21, 2014

Page: 1

Customer ID	Field Ticket#	Paymen	Terms
Murfin	62521	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-01	Oakley	Mar 21, 2014	4/20/14

Quantity	Item	Description	Unit Price	Amount
1.00	WELLNAME	Keith #1-33	n se um aprocuración (1926	2年できずから2000年とから開発を配金には
220.00	CEMENT MATERIALS	Class A Common	17.90	3,938.00
8.00	CEMENT MATERIALS	Chloride	64.00	512.00
231.00	CEMENT SERVICE	Cubic Feet Charge	2.48	572.88
372.75	CEMENT SERVICE	Ton Mileage Charge	2.60	969.15
1.00	CEMENT SERVICE	Surface	1,512.25	1,512.25
35.00	CEMENT SERVICE	Pump Truck Mileage	7.70	269.50
1.00	CEMENT SERVICE	Swedge Manifold Rental	275.00	275.00
35.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	154.00
1.00	CEMENT SUPERVISOR	LaRene Wentz		
1.00	CEMENT SUPERVISOR	Andrew Forslund		
			İ	
				İ
		Subtotal		8 202 78

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,870.97 Jh

ONLY IF PAID ON OR BEFORE Apr.15, 2014

Subtotal	8,202.78
Sales Tax	362.68
Total Invoice Amount	8,565.46
Payment/Credit Applied	
TOTAL	# 5H 8,565.46

ALLIED OIL & GAS SERVICES, LLC 06252 1 Federal Tax I.D. # 20-8651475

REMIT TO P.O. BOX 93999 SOUTHLAKE, TEXAS 76092	SERVICE POINT;
DATE 3 01-14 SEC. 33 TWP. 9 RANGE 27 C	ALLED OUT ON LOCATION JOB START JOB FINIS H
	SN, Y2E, 4N, Sheordas STATES
OLD OR NEW (Circle one) \(\sum_{\text{2-12-ple}} \frac{1}{2} \)	
CONTRACTOR Marfin 24	OWNER Same
TYPE OF JOB Scentace HOLE SIZE /d V&" T.D. 262/	CEMENT 220
CASING SIZE 878" DEPTH 862	AMOUNT ORDERED 180 SES COM 3 % CC.
TUBING SIZE DEPTH	Drilled deepen ordereduce
DRILL PIPE DEPTH	count,
TOOL DEPTH PRES. MAX MINIMUM	184-6 180- 2808 2
A COMPANY AND A STATE OF THE ST	COMMON #345/4 @ [7-90 3777]
MEAS. LINE SHOE JOINT CEMENT LEFT IN CSG. /5/	POZMIX 2205/5 @ 17.90 3738.00
PERFS.	CHLORIDE SE OFFICE 35400
DISPLACEMENT 15.81661	ASC
EQUIPMENT	: @
A COM MINT	@
PUMPTRUCK CEMENTER Lakare Erdente	
# 431 HELPER Andrew Forsteind.	
BULK TRUCK	@
#396/366 DRIVER Thomas Torres TUS)@
BULK TRUCK	<u> </u>
# DRIVER	23157-3 @ 572.88
	HANDLING ATTHE @ 2.48 HES 22 MILEAGE FIRE STRUCK 35 No. 2.60 773457
220 REMARKS:	10.63 X 35" MOVE 31
Mix 180 5ks count	TOTAL 7000000
Displace wife water	
Cornect did circulate	SERVICE TOTAL 5992.03
15519 to p8t	2/2/
	DEPTH OF JOB 262 1 PUMPTRUCK CHARGE 15/2.23
	PUMPTRUCK CHARGE /S/223 EXTRA FOOTAGE @
	MILEAGE 44 35@ 7.90 269.50
	MANIFOLD Swedge @ 275.00
	MEN 35 0 440 15400
CHARGE TO Martin Drilling.	
	TOTAL 2/025
STREET	10110
CITYSTATEZIP	PLUG & FLOAT EQUIPMENT
	@
To: Allied Oil & Gas Services, LLC.	
You are hereby requested to rent cementing equipment	
and furnish cementer and helper(s) to assist owner or	<u> </u>
contractor to do work as is listed. The above work was	
done to satisfaction and supervision of owner agent or	TOTAL
contractor. I have read and understand the "GENERAL	
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)
Δ	TOTAL CHARGES 8, 200.78
PRINTED NAME A. Than MORTIS	
PRINTED NAME Anthony Martin	DISCOUNT CX 1CD (C.J. T) IF PAID IN 30 DAYS
SIGNATURE Anthon Mart	DISCOUNT 2,870.97 IF PAID IN 30 DAYS 5, 331.80 Net.
William William Com	



PO Box 93999 Southlake, TX 76092

Voice:

(817) 546-7282

Fax: (8

(817) 246-3361

Bill To:

Murfin Drlg. Co., Inc. 250 N. Water STE #300 Wichita, KS 67202

INVOICE

Invoice Number: 1422 18

Invoice Date: Mar 29, 2014

Page:

1

Customer ID	Field Ticket#	Paymen	Terms
Murfin	61332	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS1-03	Oakley	Mar 29, 2014	4/28/14

Quantity	l tem	Description	Unit Price	Amount
	WELLNAME	Keith #1-33	THE STATE OF THE S	<u> </u>
132.00	CEMENT MATERIALS	Class A Common	17.90	2,362.80
88.00	CEMENT MATERIALS	Pozmix	9.35	822.80
8.00	CEMENT MATERIALS	Gel	23.40	187.20
55.00	CEMENT MATERIALS	Flo Seal	2.97	163.35
236.28	CEMENT SERVICE	Cubic Feet Charge	2.48	585.97
394.80	CEMENT SERVICE	Ton Mileage Charge	2.60	1,026.48
1.00	CEMENT SERVICE	Plug to Abandon	2,485.59	2,485.59
40.00	CEMENT SERVICE	Pump Truck Mileage	7.70	308.00
40.00	CEMENT SERVICE	Light Vehicle Mileage	4.40	176.00
1.00	EQUIPMENT SALES	8-5/8 Wooden Plug	110.00	110.00
1.00	EQUIPMENT OPERATOR	Paul Beaver		
1.00	EQUIPMENT OPERATOR	Tyler Flipse		
1.00	OPERATOR ASSISTANT	Brandon Wilkinson		
				ĺ
				İ
			<u> </u>	

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

2,841.36

ONLY IF PAID ON OR BEFORE
Apr 23, 2014

Subtotal	8,228.19
Sales Tax	670.60
Total Invoice Amount	8,898.79
Payment/Credit Applied	
TOTAL	8,898.79

ov In - 2841.36

6057.43

ALLIED OIL & GAS SERVICES, LLC 061332 Federal Tax 1.D. #20-8651475

REMIT TO P.O. BOUTH		EXAS 760	92		SER	VICE POINT:	thy KS
DATE 3-29-14	SEC.	TWP.9	RANGE 27	CALLED OUT	ON LOCATION	JOB START	JOB FINISH 51601. M-
LEASE KEITH	WELL#	1-33	LOCATION Park		lub Nto	COUNTY	STATE.
OLD OR NEW CH	rcle one)	,	Rd 90 2 E	1/25 Eint	0		-
CONTRACTOR	<u> Myr-</u>	fin 2	4	OWNER	ame		
TYPE OF JOB HOLE SIZE 7	7/8	T.D.	H2001	_ CEMENT			
CASING SIZE		DE	ин"	AMOUNT O	DERED 120	3 & S.	60/40
TUBING SIZE DRILL PIPE 4	1/2	DEI	тн тн <i>2300'</i>	4% ge	14 ex F/0	r Seal	<u> </u>
TOOL			TH	_	سلم (۱۳ ا	- 179-	2362.80
PRES. MAX MEAS. LINE			NIMUM DE JOINT	_ COMMON POZMIX	88 sks	@ 7.35	B)2.80
CEMENT LEFT IN	CSG.			GEL _	8sks	@23,40	187.20
PERFS. DISPLACEMENT	water	514	mod 24.15 b	CHLORIDE ASC			
	EQU	HPMENT	•	4 10-50	1 55	₽@ <i>2.97</i>	163.35
nii co mo i lair	OE) (E) (M	Pi	Beaver Hylert	Tipse		_@ _@	
			Flose	117			
BULK TRUCK		1	٠.			_@ @	
#396/308 BULK TRUCK	DRIVER	121AD	don Wilkins	<u> </u>		_@	
.#	DRIVER	· 		- HANDLING	236.2847	E @ <u>2.48</u>	585.97
	ממ	MARKS:		MILBAGE Z	.87 fors x40	mi k 2 60	85,148.60
1st Alva m			2300			TOTA	BO, 1 10. 40
Disoper	of mu	d			SERV	ICE	
Disulger	7,000	ualer	1450	DEPTH OF J	OB	2	300'
J'a plucy mi		sks @		PUMPTRUC	K CHARGE		300'
Inia 30 sks	1.4	ts @	10 w/ plug 15 sks in M. H	EXTRA FOO MILEAGE_I		_@ <i>7.70</i>	308.00
		, 5	Thut You	MANIFOLD			176.00
		Tu	of Tyler, Brane	don MILU	40	<u> </u>	1 10.00
CHARGE TO:	Mact	in D	<u>-la.</u>				1 .917
STREET						TOTA	2,967.59
CITY	S7	ГАТЕ	ZIP	_	PLUG & FLOA	T EQUIPMI	ENT
				05/0			170 00
				_8 /#_6	Jorden plug	@ @	110.00
To: Allied Oil &					·	@	
			menting equipment to assist owner or			@	
contractor to do	work as i	s listed. T	he above work was				\$ 110.00
			of owner agent or and the "GENERAL			7017	10,00
			d on the reverse sid				
	, A	i "W	1	TOTAL CHA	ARGES	1367J	
PRINTED NAME	Anji	100g 11	10 STin	DISCOUNT			AID IN 30 DAYS
PRINTED NAME	7) Je	- NI			5,38	12291	64
SIGNATURE(/	MIUNI	1 1 4	" <u>p" U/</u> "			_	Same.